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What would happen to the temperature of the
Earth if:

1. Rsun doubled

2. Rearth dOUb]ed
3. Dearth—sun dOUbled

‘Choose from:

A. Thew =% Toud

B. Thew =% Told

C. Tnew = 1/v2 Told
D. Thew = Toud

E. Thew = \/2 Told

F. Thew=2 Toud

G. Thew =4 Tod
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Figure 3.1 The curve shows the decrease in temperature, with increasing
distance from the Sun (in units of 10° km), for planets that absorb all the
incident sunlight and that have neither internal sources of energy nor atmo-
spheres. The open circles take into account that each planet reflects some
sunlight. The solid circles correspond to the actual temperatures at the sur-
faces of the planets. The length of each dashed line is a measure of the green-

house effect.
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- HOT STAR

Can you tell, just by looking, which are the hottest
stars 1n the sky?

a) Yes, you can tell -
b) No, you cannot tell | S
x e el
B . . T
& 2

B — L — S S RS

The hottest stars in the sky are . brightest stars
in the sky.

a) True
b) False
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